HKCEE Problems.  Probability. P1

1(B0) The examination for a prbfesSional qﬁﬂiﬁcation consists of a theory paper and a practical paper.
To obtain the qualification, a candidate has to pass both papers. If a’ candidate fails.in either
paper, he need only sit that paper agam )

The probabilities of passing the theory paper for two candidates A and B are both 70_ “and

- their probabilities of- passing the practical paper are both g Find the probabilities of the -
following events : .

(a) Candidate A obtaining the qualification by sitting each paper only once. G .marks‘)-

(b) Candxdate A failing in one of the two papers but obtaining the quahﬁcanon

with one re-examination. - (4 marks)
(©) At least one of the candidates 4 and B obtammg the quahﬁcanon wnthout I
' any re-examination, (3 marks)

2( 3N 1In a class of 42 students, 28 have been to Ocean Park and 34 have been to the Space Museum.

(a) Find the least number of students who have been to both Ocean Park and the

Space Museum.

(b) If 7 of the 42 students have never been to Ocean Park or the Space Museum,
find the number of students who have been to both places. ’

(6 marks)

3(1N ‘There are 40 students in 2 class, including students A and B. If two students are to be ‘
chosen at random as class representatives, find the probability that both 4 and B are chosen.

(5 marks) -

§(82) If two dice are thrown once, find the probability that the sum of the numbers on the dice is

() équal té 4,
(b) less than 4,

(c)  pgreater than 4 . , o L
' : R "~ (6 marks)

5(%3) In a short test, there are 3 questions. For each question, 1 mark will be awarded for a correct
answer and no marks for a wrong answer. The probability that John correctly answers a questlon
in the test is 0.6. Find the probablhty that '

(a) John gets 3 marks in the test, A : (3 marks)
(b) John gets no marks in the test, ' ‘ ‘ (3 marks)
(c) John gets | mark in the test, - ‘ ‘ - (4 marks)

(d) John gets 2 marks in the test. (2 marks)
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(85)
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(87 )

LB,
(87)

(87)

There dre 12 boys and 8 girls in a class. 174 of the boys
and 1/4 of the girls wear glasses. What it the probability
that a student chasen at random from the class is a boy not

‘wearing glasses or a girl wearing glasses 7

A. 5/20 B. 9/20 C. 11/20 D. 13720 E. 9/1C0

The probability that John will win a game is 1/3 and the
probability that he will lose is 2/3. What is the
probability that, in three games, he will win any two games
and lose cne game 7 ‘

A. 4/27 B. 2/27 C. 1/27 0. 2/9 E. 1/%9

Two dices are thrown. What is the probabililty of getting a

a sum of 8 7

A. 1/12 ‘B. 1/11° C. $5/36& D. 1/6 E. 2/9

There are four balls, numbered i, 2, 5 and 10 in a bag. If 2
balls are taken out at random, the probability that the sum

on the twa balls drawn is greater tham or equal to 7 is

AL 1/2 B. 3/8 c. z2/3 D. 374 E. 3/6 ‘

Two dice are thraown. The probabllity of getting at least dne
=T - _ -
A. 1/6 B. 1/3 C. 11/36 D. 25/3& E. 35736

In a shooting game, the probability for John and Mary to hit
a target are 4/95 and 3I/% respectively. When both shcat at
the target, what is the probability that they baoth miss ?

A. 2/25 B. 3/25 C. 86725 D. 12725 E. 13/23

One letter is taken from each of the words "MAN" and "ART"
at random. Find the probability that the two letters are not

the same.
aA. 1/9 ~B. 1/3 C. 4/9 D. 2/3 E. B/

Four persons A, B, C and D sit randomly argund a round
table. The probability that A sits next to B is

AL 1L/4 B. 1/3 C. /2 D. 2/3 E. 5/é6

A die is thrown twice. Find the probability that the number
obtained at the first throw is greater than that at the

second throw.
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. P.2
The Tigure shows 3 paths joining A and B. A man walks from
A to B and another man walks from B to A at the same time.
If they choose their paths at randem, what is the
probability that they will meet 7

1
A, 1 - - . ™~
; N
7 A AN
B. 1/3 : N
1 ™ \
c. 1 - - \\
4 N
1 1 \\\
D. - x - ' ) \
\
1 1 B
E. — x - .
3 3
The figure shows the - ANSWERS
cumulative frequency 1.C 2.0 3.C 4.C 5.C
polygon of the heights - bHLA 7.E 87D ?.R 10.B
of 100 persons. If one 11.8B -

person is selected at
random from the group,
find the probability
that his height is less
than 170 cm but not less
than 130 cm.

aA. 1/93
B. 2/3 i
c. 3710 o
D. 1/2 .
{
E. 7/10 e g
| ] /
,,,,,,,, v
L4
b !
c - i
[¥) b
o - s i
2.
SRl A I
W 4
w
= ; ]
E é
3 e LA i A
S ; S/ ; ; ]
,..I y ; |
/ 4 .
| ;
i -
; { : : “;_--Z__, .
{? i jé ; L
T : -
T N T I T T
R S R e = . _
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